Example Candidate Responses — Paper 2

Cambridge International AS & A Level
Sociology 9699

For examination from 2021




Cambridge University Press & Assessment 2021 v1

Cambridge Assessment International Education is part of the Cambridge University Press & Assessment. Cambridge
University Press & Assessment is a department of the University of Cambridge.

Cambridge University Press & Assessment retains the copyright on all its publications. Registered centres are
permitted to copy material from this booklet for their own internal use. However, we cannot give permission to centres
to photocopy any material that is acknowledged to a third party even for internal use within a centre.



Contents

10T [T 4o ) o USSR 4
L@ T =Y (oo e SRRSOt 6
Example Candidate ReSpONSE — Nigh...... ..ottt e e et e e e e et e e e e nneas 6
Example Candidate ReSPONSE — MIAAIE............uuiiiiiiiiii et e e e e e e e e e e e e e e e aaeeeee s s nnnbaaaeeeaaaaeaas 7
Example Candidate RESPONSE — IOW.......cccoouuiiiiiiiiieiee ettt e e e e et e e e e e e e e e e e e ettt e s eeeeeaaaeeeeeeaansssbaraeeeeaaaeaas 7
L@ U134 To o T - USSP 8
Example Candidate ReSPONSE — NiGN.........uiiiiiiiiiie et e ee e e e ettt e e e e e st e e e e e snnteeaeeennsreeeeennneas 8
Example Candidate ResSponse — MIAAIE............. e ittt e e e e et et r e e e e e e e e e e e e e nnn e eneeeeaeaeean 9
Example Candidate RESPONSE — [OW.......o ittt et e e e s ettt e e e e sbbe e e e e s aabee e e e e snbeeeeesanbeeeeeeaan 10
L@ 01T 1o I | o ) SRR 12
Example Candidate ReSpONSE — NiGh..........oiiiiiiii et e ettt e e e st e e e e sbte e e e e s anbeeeeeaaan 12
Example Candidate ReSPONSE — MIAAIE...........uueiiiiiiiii i e e e e e e e e e e e e e e e e e e e s e b e e e e eeaaaeeeas 13
Example Candidate RESPONSE — IOW...........uuuuiiiiiiiiiieee et e e e e e e e e e e e et b e e e e e eeaeeeeeesenntabreereeeaaaaaans 14
L@ TU =T (o] T T T O PRSPRRN 15
Example Candidate ReSPONSE — Nigh.........oiiiiiiiiii ettt e ettt e e e e st e e e s snte e e e e s anbeeeeeeanns 15
Example Candidate ReSponse — MIAAIE...........oeuiiiiiiiiiiiiieeeee e e e e e e e e e e e e e e e e e e e e st brereeeeaaaeeeas 16
Example Candidate RESPONSE — [OW.... ... . ittt e e e e e e e e e e et e e e e e e e aaeeeeaaaannnneeneeeeeaaaaeans 17
L@ TU1TS 4o T (o ) PSSP 18
Example Candidate ReSPONSE — NG, ... et e e e e e e e e e e e e e e e e eeeeeaaaaeeas 18
Example Candidate ReSPONSE — MIAAIE. ........coouiiiiiiiiii et e e et e e e s bt e e e e s sabeeeeeeaans 19
Example Candidate RESPONSE — IOW........cccuuiiiiiiiiiie et e e e e e e e e e e e e e aae e e s e ss b s b beaeeeeaeaeeesssaannsnrreaeeeeaaaeeeas 19
L@ T (o] o T TSRS 20
Example Candidate ReSPONSE — Nigh.........uiiiiiiiii ettt e e e e et e e e e sbte e e e e e anbeeeeeeaans 20
Example Candidate ReSPONSE — MIAAIE...........uueiiiiiiiiii e e e e e e e e e e e e e e e e e e e re e e e eeaaaeeeas 24

Example Candidate ReSPONSE — IOW... ...ttt e ettt ettt e e e e e e e e e s e eneee e e e eeaaaeeeeaaaannnnnnneeeaaaaaaaens 27



Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Sociology 9699, and to show how different levels of candidates’ performance (high, middle and low) relate to the
subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

9699 June 2021 Question Paper 23

9699 June 2021 Mark Scheme 23

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high- and middle-level response for each
question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in the
right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments
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conditions. These show you the types of answers for poeple. love alongside the answers. These
each level. Discuss and analyse the answers with your | 9= &€ explain where and why marks

learners in the classroom to improve their skills. were awarded. This helps you [~
to interpret the standard of

Cambridge exams so you can
help your learners to refine their
exam technique.

N J

c The first way is identified.

How the candidate could have improved their answer

The candidate could have saved time by not providing an additional unnecessary point.

This section explains how the candidate could

have improved each answer. This helps you to

interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this answer

» |dentifying a way / point but then not describing it for the additional mark.

* Not providing two points as required.

+ Providing lengthy unnecessary introductions.

» Not making each point clearly identifiable. Candidates should bullet / number each point.
» ldentifying more points than are required.

Lists the common mistakes candidates made

in answering each question. This will help your
learners to avoid these mistakes and give them the

best chance of achieving the available marks.

Often candidates were not
awarded marks because they misread or
misinterpreted the questions.
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Question 1

Example Candidate Response — high Examiner comments
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@ Tre first way is identified.

e The candidate goes on to
explain / develop their point.

o The second way is identified.

o The second way is adequately
explained / developed.

Q An additional point is made
that is not required and thus is not
awarded as full marks are already
awarded.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

The candidate could have saved time by not providing an additional unnecessary point.
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Example Candidate Response — middle Examiner comments

1 . lons wpy_jsshepiah +he 0ae_child ching’ soity , wheleby th.e 90veinment i g
I_ﬂuﬁ-mj«am&km_‘fmﬁmmi1'1-_wh_un/_meLzzn,e,myumAqrAma;_g,jb,efmm:u_ G The ‘One child China policy’ is
identified as one way, with relevant

. _ . . o explanation, i.e. ‘give rewards to
0 _Sing:apet. Where 1he Y  -hind .up. .posiers. 40, €onVinced them: fo_hare Mmoce | . s
chitdeen. T family...”.

e e The second point is not

awarded as it is a repetition of the
first.

EO_PAY3h-B. GONELNMOL:E_if FheY _hGve.mOLe._childlen . The. Other one wovld be. |

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

The response needed a second relevant way identified and then explained / developed to achieve the further 2 marks
available.

Example Candidate Response — low Examiner comments
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to religion is too vague.

Total mark awarded =
1 out of 4

How the candidate could have improved their answer

+ The candidate needed to provide a relevant explanation of the identified way.
* The response needed a relevant second way identified and developed.

Common mistakes candidates made in this question

» |dentifying a way but then not describing it for the additional mark.

Not providing two points as required.

Providing lengthy unnecessary introductions.

Not making each point clearly identifiable. Candidates should bullet or number each point.
Identifying more points than the question required.



Example Candidate Responses — Paper 2

Question 2(a)

Example Candidate Response — high Examiner comments
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c The candidate provides the
first relevant way ‘women do the
emotion work’.

e The candidate references
relevant sociological material here.

e The candidate applies material
in support of the way identified.

o The candidate provides a
suitable explanation for this point.

6 The candidate explains a
second way.

e The candidate references
relevant sociological material.

0 The candidate applies material
in support of the way identified.

e The candidate identifies a
second way.

0 The candidate’s response
identifies two correct ways, and
each way contains all elements
required to gain full marks

Total mark awarded =
8 out of 8

How the candidate could have improved their answer

Some repetition could have been avoided with full marks still being attained. However, the candidate may not have
saved much time by pausing their flow to try to be more concise.
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Example Candidate Response — middle Examiner comments
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a The candidate identifies the first
point (transmits patriarchy).

o The candidate explains a
second way.

o The candidate references
relevant sociological material.

e The candidate identifies how
the material supports the way.

e The candidate states a second
way ‘taking care of family especially
the husbands’.

e The candidate’s answer
focuses on women’s oppression
rather than on how men’s interests
are supported.

Total mark awarded =
5outof 8

How the candidate could have improved their answer

The candidate needed to use a similar approach in the second point; the approach they had taken within the first
as the first point achieved all 4 marks.

The second point needed explaining, then relevant sociological material applied to support the point.

Within the second point, the error the candidate made was that their response focused on how women are
oppressed. What the candidate needed to do was explicitly link this material to how the family supports men’s
interests, as required by the question.
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Example Candidate Response —

low

Examiner comments
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“ This first paragraph is irrelevant
and too vague, with some focus on
how women are affected rather than
how men’s interests are supported,
and subsequently has no awardable
material.

o The candidate identifies the first
relevant way.

e This focuses on the life/
limitations of the woman rather
than on how the interests of men
are supported and is therefore
irrelevant.

O The candidate identifies
the second way as a benefit of
the doubt, with ‘supporting the
economic supporting system
(husband)'.

Total mark awarded =
2 out of 8

10
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How the candidate could have improved their answer

+ The candidate identified two relevant ways. However, to improve, they needed to explain relevant sociological
material used (e.g. concepts or case studies) and then give an explanation to show how this material supported the
point made.

» The response needed to focus clearly on how men’s interests are supported, rather than on how women may be
suppressed and be more closely linked to the question that was set.

Common mistakes candidates made in this question

* Not focusing on the question set.

* Not using sociological material to support the point/s made.

» Giving more than two points.

» Using different theoretical perspectives than that required or cited in the question.

1
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Question 2(b)

Example Candidate Response — high Examiner comments
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0 0 The candidate’s response
clearly identifies each limitation
through the use of words such as ‘It
ignores.... / It fails...".

Total mark awarded =
6 out of 6

How the candidate could have improved their answer

Some repetition could have been avoided with full marks still being attained. However, the candidate may not have
saved much time by pausing their flow to try to be more concise.

12
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Example Candidate Response — middle Examiner comments
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limitation. The candidate doesn’t
explicitly state ‘A limitation of...’

e

0 fanmdty 7s goigp doweels pecberalyp op eqeels’. Tis is
Alge lenoon a8 TN somaehieef  farilo oShich e

freclifionof rSies, ren o fhe bicodwiine. owp feqncte o however, they imply that radical
| doragfie wwewbie IS breafg Soen P Crample  bofh  Thx feminists have the belief that the
o hisbods =l wige shoe fe Sane Tosk lfa. possirp reaf family supports men'’s interests.

oo pogiy theidr Lillity ¥ schast fres. Aecoretyy o Foepieinty
WNBEE ool forp trphagises Hou o foaity 14 Forg Tl

o The candidate gives an
explanation of why it is a limitation.

e atify . Tp\M-.S) He S\\jw\w\z—‘ﬁ{ul for~sibr Sty Thoadt Ffle
| fornily dors ad) Suppefs Fh Fferegfs G PRa,

Tee fonily Aoes aob euppet fhn iafirests op sty ARecmse
worn ewel  fle- posiion, ore aeffiyy Pl recomeifion e
nadaed, Ve r2ens the) wone fs pesifion, o levelley =5
‘ rn. Ty Slto bt Bl own Aghfs ad spmien it fh OThe candidate provides an

) e Flanity . TV exompie  tome, Ao donoshc Wk becamse They explanation of why it is a limitation.
i I s s &c;e‘ssuf\t,- boig erpleifey by e, Trey

plgo tone = Wgh powiiion T Frssy sre ok heppy oite Fren

2 | b | haesboet Fhus o el He pinst sleps M Ao opip -
‘ ZT:O ;N:z::&/%zwi:jj: w:[:f: ,;?:M ° The_ca_ndidate identifies a
o : e : : second limitation, but needs to
poshen becanee ooy ene powerpy, Mg wonel levellay explain why it is a limitation.
P8y ol ne, b= e Shows fie InTFeflon, 73
el feavindch \beios, | | Total mark awarded =
4 out of 6

How the candidate could have improved their answer

» The candidate could have made their first limitation more explicit to remove any doubt over the point made.

* For each limitation, the response needed to explain why radical feminism has this as a limitation, i.e. what is it
about the approach that leads to having this limitation?
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Example Candidate Responses — Paper 2

Example Candidate Response — low

5
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' M.a_;j a5 %W-/ //myr '/n y/«m 72«1 &fuae Fhaf /,(,wm/.q /.r.r nd/La//dV'
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. [74
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Examiner comments

a The response is not focused
well to begin with, and it is unclear
what the limitation is. It is rather
more of a viewpoint.

e The candidate identifies a
relevant limitation.

0 The candidate gives an
explanation as to why itis a
limitation.

Total mark awarded =
2 out of 6

How the candidate could have improved their answer

» The candidate needed to focus their response on identifying clear limitations. This got a little lost within the first

point they were making.

*  Where the limitation was clearly identified and it explained why it was a limitation, the candidate needed to explain
what it is about radical feminism that leads it to have this limitation. For example: ‘It has this limitation because it
focuses on the oppression and negative experiences women face in the family due to patriarchy’.

Common mistakes candidates made in this question

+ Candidates not clearly identifying a limitation or strength, rather giving a lengthy preamble and examples.
« Writing about the theoretical position rather than identifying a relevant limitation or strength.

* Not addressing why the theoretical stance has the limitation or strength.
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Example Candidate Responses — Paper 2

Question 3(a)

Example Candidate Response — high Examiner comments

Lo (0} ] Seaed dote s e wa'séi/ -t\\'h\n_éx\_a, a(’ 'FWM“AJ Shvmetuve. g
i FHae {)st‘W -@J;Law_v,z-_ola&s-_ﬂw_.;m@__%_»_'14!1&13_-t9..t)s|>_erma&
. ﬁ ¢ g\g,cjle_-_—__Payw"" ’Famﬂt\' S‘fmmm g\dﬁ_ﬂﬁw_‘-_,}g_.[)zsﬁwdu‘—_

i e o to support and develop the point (for
e saerieel swotlont,pometl— et petowe=taglt | example, Murray and Rector).

ek settodmetos ool b Doiviee 0loss._ome_vevy

‘ -l‘«‘[o'r? . 1-» . wL.w M-frg:g)%_“”gvgwﬁb’m vstote peedfost _—to becswe!
fhgle rtlar has o Thy stote benet¥t_sots | o P ‘
| tweemtie  fow e A A _w_o__*j__a(ld/.de]) P
‘W;)M_'t_-_a&[:bﬂ_m’_m_;uﬁlzfﬁtk_.*. - Moo, Rectey |
+ dliosugqeste  piodt (awew class wtlow oliove voits tnk hushs
| onehs__ oo pnel Ohavse Ao he oo fc_baﬁla_—_w:t&v_—to_da:h._—ly_,
| Sfart: m&f—faws . Ag?ﬁwlﬁg§;b!wuﬁq;m@_m__u&uaky‘;_#b__
n sheartese of iW%mM_Mﬂme%a@i_.M_mmk_
aaowerdesh wonlod vyolucte  —de, -Auu4)_]3___—kf,0ﬂ___&%  Joutas. Forer

| Fle state S lemce __wlwialtl:_j_ohaﬁg__-ﬁuh_fm___
| owrnspoatte o @g‘g_af_dmy_&)_—eéa_m wooh-:j___J_Lmu_,__
e, W_o{b&;_wm_&zc_caﬁ_w_-_:kﬁ :

c The candidate makes the point
using relevant sociological material

92 __j‘oc;b_vi._'wl.‘f_dw ;
Lowid olxowj %xw'ﬁ (*M&t%_&__mgk__ﬂé.\ﬂw_j_fﬁﬁ_ﬁﬁdflk‘) :

= -Lg;_miqgéml{tmwﬂ&;_.ﬂ__fmﬂlﬂ_L+mL:t_%_‘

e The candidate expands and
engages the point for it to be
developed.

o

6%M_,M$Mm4mo_m%&mmiJQaM
. . ’ p(ﬁ;.g.__lLﬁ_%&*&ﬂmm_ﬁtu‘\tmlj__fiwd’uv!«___.Za_Hzl?SL‘;:’._._ e The candidate makes the
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of ectmiptbremcser  votivl,  Th oty Hsoe Lo
‘:vvJ\ wiaat__CoPitalidts lwml&g ontr &tk e -'PW\M e

o The candidate expands and

: . | supports the point with relevant

| iwequelity _exiie b,wfimﬂf_m_wlm_/_wﬂm_% sociological material (Marxist
ittt - o e e lm-’fﬁa_b,‘lf-_gV if—'oakt‘:f.a.lm e concepts) to be developed.
ermseliflate oo pustunesho_pequalily B Bustiee || @ The point is disagreeing and

e T 1Y 3 127 CWL&QM_'_J{’_@LWDM_M_%Q@__lSr_o(.rlow!ayed is Supported through reference

e bl copiulits o i o of _exctomedd fowily doclettt || to Brannen. This is enough to be
'l bl Cowt wl(&n:b&_7w;_c@tmdibf_m\t. (P VA cafj‘iul.&j awarded marks at the top of Level

J_delne v ob coJ.—ES)}\mm M‘_ww{\e-h‘h\m ,A'c o vesalt ot Mb\\'\; ] 2.
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n- . ) B 10 out of 10

')3-" oals  *saoted ‘FIZ&‘; )

How the candidate could have improved their answer

Perhaps the answer could have been given with less elaboration, saving time for later questions.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

2 (o) | Sodert doss 16 e maln nfluente on_famlysouctue o
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lock o _econsrile_Tndegendence gl s m e exsili 4
m)lbl\ﬁol by_ren 0o {gnily ‘

| Angiher . woson_why_ ¢ celend ¢ \c&g 7% She_motn MQ\\AQ\F&- M
Sorolly_ SuBS_Ts Proh the 0l aﬁe A, _mortiuse 1 o The candidate references
Q)u%,em, on dﬁ&m& N dqgsag Pmmen Q/GCQUQJ‘Q Yok sociological material.

e wodind_oss ovTen G wok Vel _t» yroo4 ok ond o .

Toag. 41 JD&L%M"& o carfkr bR+ e VeI, relev-g:ﬁ Csir:ﬁlgﬁ}jeitr?: l;is aorted

| common to_see fow WW\‘M“‘% W&’“S ngs_lg\e\ml_ with sociglogical ma’[erial.pp

\\\hm Io_the_Some perdod. TS, o keoniols Tomly_dingue

S cmxmm \t\kgke_’ﬁbﬁ%wm’&_%mn& Pﬁﬁﬂbs__\ﬂ\’\t __\z%_ichf * | Total mark awarded =

Sy ondlRN_cye o W wook oo cpntiofilgred \ink | 5 out of 10

How the candidate could have improved their answer

The candidate needed to focus on the specifics of the question. To improve, the response needed to replicate the
approach taken in the second paragraph and make a relevant focused point addressing the question and develop it
through the application of sociological material.

16



Example Candidate Responses — Paper 2

Example Candidate Response —

low
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Examiner comments

0 The candidate identifies a
relevant point.

@ The candidate identifies
another point.

o This paragraph is irrelevant as
it is not related to structure, which is
what is required here.

e This is a benefit of doubt point
as it implies extended family.

o This response has three simple
undeveloped points (one of which is
benefit of doubt).

Total mark awarded =
3 out of 10

How the candidate could have improved their answer

Where the candidate made some appropriate attempt to directly address the question set, this was basic and
needed to develop these points made. This required the use of relevant sociological material, moving beyond
simplistic unsupported statements.

Additionally, the candidate needed to stay focused on the specifics of the question set and avoid drifting off.

Common mistakes candidates made in this question

Only providing one point.
Not developing the points made using relevant sociological material.
Providing an evaluation, which was not a requirement of the question.
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Question 3(b)

Example Candidate Response — high Examiner comments
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.Mv_f,z‘i:kk&ly;b.wfﬂ—;aﬂfjwf;ﬁk;MW@;}/J;*ﬁlﬁi,ﬂm.ﬂ&edl_;_fé.t__f[.‘ﬁ_.ﬂl%[lm

ph@posed.. by . Parsans_and _Creode :.i8_o \peods BB proet- Lo |
pives indptaod. Sodetyt., FnE. ﬂdommnt,,y"zimﬂ.}/_,sfmoﬁrr_\:_/; ‘

" oxtended faimdly..: bequue e xtondel famdily. fits Ahs_soriety s .
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: fmu 'ﬁlﬁ?l_(&{__'/lfh.ﬁ/,tm_‘x;.éQb{CPy_@d_.LW&ZC;@KLNMW.%#_[@&W_J}:L_Qmé.——-_:
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o Aeoordivng. o EAM&'OWJKILqMWLWIﬂ_]%(fﬂLL}JﬂQLWﬂ/‘/M

Ihstitutdons ;,ﬁkm‘//v Al a«/Way&;ﬁAmﬁbnufo help_the 49,41.'&1?7*,‘
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i
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dunctioned .peed fen »ﬁmﬁh/;;éﬂﬂlﬁ&ﬁzig,wgmﬁ?wohlx‘ﬁ%,,sa

AHE: fandly . Stonctuse:. ana__ﬁawnw&{w:_ﬁw'ly_;w.g’qt__z&&_@__
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a The candidate identifies a
relevant point against the argument
that is made.

e The candidate uses relevant
sociological material to support
the point made, e.g. fit thesis and
reference to Parsons.

e Here, it can be seen that the
candidate develops the material
provided and engages with the
question being asked.

o The point is well supported and
engaged with material enough to be
considered a developed argument.

Total mark awarded =
6 out of 6

How the candidate could have improved their answer

Repetition could have been avoided to save time.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

c This paragraph is irrelevant as
it does not discuss the specifics of
the question.

.
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b 08 | Mo coni-_ Yor ety otvome -t_u‘k_L‘f’e___EPMﬂ—t)J& A
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0 The candidate makes a
o relevant point and is supported with
sociological material.

Total mark awarded =
4 out of 6

How the candidate could have improved their answer

The candidate needed to do more with the point made, e.g. develop it by explaining in detail why life expectancy
leads to the beanpole family, or how and why life expectancy can potentially lead to other family structures, such as
singletons.

Example Candidate Response — low Examiner comments
3. b (‘A7EU’V77(myd -H ,ﬂ/-e—w—/é@e%#/ /l{siwag/ c/%m /Wéy /;a%

-'L%e’m/n /nsb/«enrw‘méy
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e w/m;__ﬁlf_am:?L . ' : Total mark awarded =
) 2 out of 6

a The candidate makes a
relevant point, with one point
disagreeing with the view.

How the candidate could have improved their answer

The response needed to apply relevant sociological material to engage the point made, developing it beyond a simple
point of disagreement.

Common mistakes candidates made in this question

* Not using sociological material to support (relying on common-sense / general knowledge).

+ Making statements and not developing them sufficiently. The question awards a total of 6 marks for one point, thus
indicating the level of quality / depth required.

Providing unnecessary introductions and conclusions, where the question did not require this.



Example Candidate Responses — Paper 2

Question 5

Example Candidate Response — high
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Examiner comments

c The introduction is just setting
up the response and points here are
addressed in the body of response.

o The candidate references
sociological material.

o The candidate makes a
relevant point, supported with
relevant sociological material
(Engels, ruling class ideology, false
class consciousness).

o Throughout this essay, the
candidate makes very good
reference to relevant sociological
material.

o The candidate sufficiently
develops this point.

o Good examples of relevant
sociological material are used.

0 The candidate explicitly
evaluates the point above (AO3).
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

{emity s yeweRcial om a)l itr  merabror nodt Jud
ﬂ_Jd‘f“Td

the  €lonom~y. M- of 0 cie wREmseesy Thet owt of the

280 S0t Rer, he heeo gduoticsa 4 wes  puclos—
femily 4nat LulBUe A Jhe four etfrenfal €wackoy,

Aphough ,‘ne{..,(;.n}; dng pConemic .\C«ACF‘“{ b b

W
[ Maveif t\cn\_{;;hﬂ.ln‘(r i+ aldr drcludey othe —~ A acflray

Jsuch .af Sottotli g e o(" {ovng a T3 b ﬁé.u.e‘-d«‘v 9

Jfuncdon . e wbich Pa~ro Ly ther ptabormice .
= 5 z e The candidate uses further

good examples of relevant
sociological material.

1o T F'(“nh o ettt A esp N r)(r!or\r.(,,‘l-j e fv-m

muould  children  with tht Corrzeft Nornd cay

Values o-(- ..(OLYC_'HJ . Thur/ Fur\(,ku4</;u~ s

Jhet whnsd Maryift po| 4 maliEe 5 dRey Hherr

et e~ furneRond  fuch of  phducaNoa gne
Lomily provides  wok just fcoromic | fracken e Th(_e candida’;e deve_lops _the
evaluation, applying sociological
material to engage the point made.

,e'wwd weally LCrvel $he  fpecdd o £ Cepitelizm —,
et Moy Tt srguer,

. Fgmalists @ @ Good examples of relevant
‘ Lr aotediken  Marniit™ Tgmedrky amques +hat || gociological material are used.
"a.(nm’rly allow {1 - pywletermad mmen  on illv(Tua
ob comtml wwikhia " tve femity #hwveph  dhe ieleq 0 The candidate makes a second
é of being ‘l8ny od dhe pestle’ This 4wt fot relevgnt point in support of the
| Gllved o grgnibicint  amoont of  conbml  for question.

Q_Pmlr-l«n‘v’- ~en +p\<v-;éov-( Pmduu‘«k obr Aitini~

it et 3 rwo‘c‘l—ﬂ"lﬂ- pmeh art  unable fo

@ The candidate continues to

. : use relevant sociological material
acrve a higher (tvel of coatel st IO throughout the essay to support
workplece . Not - only 4hote yud  giner Anstry their points.

{ i
Fupg et

Fhet omrn ;‘_o\uad-ca\ Mmen S A fa
[ Ndaberd oA skt o bt Arilxy rofirm Woatn
thil eieblel  sopolederast o mmn g, peferic e o
peet xp  frotvervs = FEmm A pteasr Lo

oodY badnia dhe {ﬁ»«uy. Twvs, Mamxi(r ergur dhet

Lerily  enables proltheviad . mes Tlution  of couml/

b
S g er  to fapmducr con#om,\;«J_ o [ PEPOE

, GWrch - fevved 49\-( et 4o . copitalram, @ The candidate develops the

point.
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued

Examiner comments

10w e sbne~ [,‘\5,\”{‘ Bun clon s 0 E op v tdd erjut
Yot .pbm;[j al\lvw ed) o tdoble o e wc‘léxfn/_ '
,cy.\,.\rn'pmen—f fam B mTA P oy o n Qr-’-u<v\ Jhey
fermily  providel Vwerm Lath 491{0-(1' ket E
Mmen ere ajlveed b FEET St Ay pen KW B,
ol (reedfel on A chreiad fem Fhaln et A work
TSV Reey A
A VTR etk allewid  Lop  fihe TETPFIR ERGACRS
of aduty percersbibel, However ynivjee Morvifh
Tt ey - ]
pheve R esqudd it gived  La N(ustes o€ Conbe )

o . N
*@, prglcf—w:a}— men BEur tRonalicf Uy Hhet W allews

Pur a \n(-m\H/\-V ond  (relle .Fsm.'ly which &4
Thenekeral - Lo all  Lemil Mmembur  ani jutdk  pen,
Y fe Y j
which dhevefer A fftveniarc!  Furcknatrf  Rga

Wevxigd 2y Y (howesses  prpw  femily gy henefcis]
for atl Mmeembeno .
Ciallarly  Dead¥ea  amquey Hhad  familys contaves
-0 yorvt 4 he (ﬁ(;(_{—’<\-\:+ 70 txe by ay he cgues

@4 ~\-=V"‘{’ fs""-“l‘.’ V“‘\J ‘.(’wo (Aabour~r Yo~ Lhg Pr.‘rc
ol onre . @{sfum '-l:,-n'\-f.! men @t ,rc'-r’l ot YRS
flromen @t 5.0 A fggf  o- p\ordhj a4 ol . Bven
“%wﬂ\ wordtn  Con tiburtd Mt men cajp A Moid
which g eIpeEa\ly st Al woemehn .;}vc e N amef |
Y mouwi A hewt P ogence cer L e enilda g :
men poferme A dnere voie of brtastwltants do seoe

: (Wne peeds of  ompitelism an s weit ofithn fng

m fo s ay ey gVl ety o itirg  howes

; .Al“rk“ﬂfr‘ alfb ruﬁ.ﬂt_[ﬁ e ielea L ,(zcmfl7 oL(‘_,R'L‘L

@ A Ydeologrer) svabt  of  appersbed  which reimbroy
Ing nvhe~ o Capldebirr  valucd suth 47 alocgptenie

ds \,\-.eraqu(_{ af flowity ead Giepst  cwould. e

@ Good examples of relevant
sociological material are used.

@ The candidate provides an
evaluation of the points made.

@ The candidate makes a third
relevant point in support of the
question.

0 This point needs further
development.

@ The candidate makes a further
AO1 point supporting the question.
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Example Candidate Response — high, continued Examiner comments

'€M’>h¢(7~fv~(. Ti\u(l’ Meryis f  tosuld ergUe Fhk ‘£°""lfq

@ remforcer ~capikelich Vveltues by cckay ar an @This point is underdeveloped,
Jdeologies b gpetc of oo yparaius, and further explanation is required.

Nonetheless, Femioid ¥ argue Hhat Macxist oyecemphsise @ The candidate provides a clear
@ orn el coplielift 1 Aeolojicd and overivexs @__ and explicit evaluation (AO3)

hovt pemv:' rewn fopc< £ 01—44(&‘1“ selecelo . . .
Z . : o @ The candidate provides

T references to sociological material
refults  in  furiher gender  OxploiteRon on wooeea which supports the evaluation.
I,\ Conber} Ho whst feules ead (ARSI wouls crgug

Eadi cet feminets  cvsutd e Ue dhat gemily dationcnips

é(#houjh Lemily regn firees h‘,{r-hcbxy in {c‘m-’[y‘ it e
e RETe it e :

,m/ dhhet Mmen  cccupres 4hd paghe st poSikoa A
b ot+h P'.r}v'd-e on oA pubiic _fM]/\erc-( N r,n-[v—'.a?‘c"“’)

hicy arehy | rather Yhen clafl hjerarchy oap whet

VY e gelibecately  ergue. Nob only gper

hut, Fomily oftcn  gxacerbattsr comen  wwith  poultaeg
(uorl. en =g ever emMOoF0acl L.k a; ot ok

Pund combe  ond MeorcAer ey ini Kally argucd.

Likfw?r.l(l ().‘mu[ and [lhaf staAyg ©n A o fvS

h([p o Jlwsate Rees women oe r)rr\ccrwin‘/,
louble ¢k ~+ ohten e nfr\xi t Heral| brerot 4 ""‘F
Pcr{—unmir} bb{—‘) work agnd \«bu(guork_ R Thu!

alihorgh Lol Feminist ond mergirt igue b et

poamily e frecey Todeolesy ervia b € Mphesife on

bow \ﬁmaul, wCinfurced  copifelidd  addcaloyy  hile

@ Eemraidd  on potricrchel toleotogy which Fucpaes | @Thecandidatedevelopsthe
Cuplostd  coomen . evaluative point.

T shors, Mamid v (ouiy seEpm sl infoniate

-l-\,\on-l— :Fc-v:h] ftrves +h€  peeds of (‘{"‘l“‘l\”?\ ~‘H\f‘uuﬂ‘
@ copitelisy  jAeotagies (uweh s alceprence t hiCrecchy.

@ The candidate is repeating
Woevertherrsr  funckomelisty  woutd  segue +hef points made previously in the essay.
F—»«ny 1 balenced =wad TEEh  AunRoma] (om ay

'\pw‘*‘(y W eml"efb e FQW\T‘A‘.J-\' Y A ergug
. hat Femit yn Corred cAeiercbel s hdecte s, . .
@ tht fority — - patiire ch “z\" @ There is further repetition here,
whreh  fucthes egteblithes gender ggpleiteteon on earning the candidate no extra
woerten - marks.

AO1: 7 outof 8
AO2: 7 out of 8
AO3: 10 out of 10

Total marks awarded =
24 out of 26

How the candidate could have improved their answer

* One of the two underdeveloped points (AO1) needed to be developed more as they were rather brief.

* The repetitious summary at the end could have been replaced with a conclusion that gave some judgement in
weighing up the opposing arguments.
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Example Candidate Response — middle Examiner comments

& | Tn Mmr}a‘ft;?!/_/s?ﬁ@ﬂl&,_;%_mﬂk Sexves—eoptahcTo_an. dnstitaiion
| gending_eaprialishada_o. vagedi... ;;Mﬁ;&ﬁmf[g;&uy@s_ﬂ@_ﬁrm&t_ G The candidate makes a

3P yhoulf hg_cbss_*b*l\d?;%tﬁzajh&fﬂémmmﬁa net_ o stort rewlatsd | relevant point with some supporting
’ 4 { | sociological material.

%E%AMSW4%W&L7$—M¢7@L“P%%LL @ The candidate references

| conVinte. the. mogges ~Hait_.cxp Molsna s InesMable. d sthe_only_woid_—- i oloqical material
v ot sotk_The mea(h_(?ﬂelm 1 Celvering. e bt Tef{mw}%“@\; supporting sociological material.
b\ym_wmg_olm_m_&s_@a rensin.RecauSs_of the_nafure.
ok_optoem Y502t wotlers_make the pwduzts_ owd._sall~to thom,) O The candidate references

___Qj&éj@_‘mgbam us%.wﬁnﬁ_tﬁ@_g@us_mQﬁﬁ_ [a,b_p_fj;[i]g‘_;_r_ | sopiological material to support their
clizs_bas to_amsdnce the. mass’o_consume A k2. the_systert_uork]._| | POINts.

M(LMQA\ 1 e lieeterSs-onrcredet—eY—fhe-Ja il n6s-Jncdeto—te,

§ % U g d —:m 5 O”—‘ja—#m’}—'jf a This point is underdeveloped.
|\ a unit ef conawaphion_thioudn pester poier 2 ohibden | | There is a lack of focus, as whilst
__Iﬁma(_]?f@ﬂat{ﬂ/_ __/L@@hbﬂ&_fouemsb_@(iﬁvn ojﬂ +he. Irodhﬁr- | | consumerism is the role of the

. i | family and has some explanation,
Tieolay_ _:Mg voinforeed_by_the studure. of the fmily, There 35 this isn’t developed as much as it
i MM_%MZ& fomily_sugpred e&.ﬁaﬁg_w@ could be.

____e,:‘(k\e_oﬂl\ﬂ&mr_\_oxfa;s,ardpdtszd_m_m faurnnl the uthonty . Thisds__ e The candidate makes a further
4.77[,17’”(*‘”" the dﬂ-/df""fl‘—d—'ﬂwf’hj the " [obor “hronbetz 1h +th f%’w' relevant but underdeveloped point

1| about the role of the family.
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Example Candidate Response — middle, continued Examiner comments

+ Fspado Mﬁ_’m sl (uhore.the. voun, Mu(@h - gl bbor - qiw'
Hither ordd Onrfgm'r\7 f}‘*ﬂ'\elf ~fothor e f j @(IS"{)% }\era

T he: Lol w‘m%r’/p, MMS_M[Y:[L Thor m{n}ﬂ _ssa:\s_y\m‘m___

e The candidate needs to further
: QHmm Hits_\iem eres nsﬁu;aa - itl_ef ok _oonf ymmjjzo____ develop this evaluation.

L mjﬁﬁﬁl‘s‘(‘ Tden! oau SWW woy \y&das__éufm;@_,, Q__f_\ﬂ

L rnSiegm_ ?9{@0[0 _ond_stapts ‘the?\r on., Suoh: as_dg\/m‘t ra.ﬁnt?(._.
S N haor&WLve_wnsx e

: o-_-_br_g%_be\%ew_m_r\%dew fémll GBS 1h€_ AMCteA. —fﬂwp“mnﬁ_ gl o The candidate makes a further
12 clheHeaug eétr*hﬁt_before,_hww\s.a&_ \'\._pmm%squ%r e__ AO1 point but it is underdeveloped.
where the ploodk: ne of eniclren  coniot de tderitfyy- thbe er

dlsum\u\ \ol|uo Yhe WYA\Q,w@\s;\’o_:ekd\ s _helro -@L?oss\ _d.‘ZWl\_ is‘
. thef\'u -\’r\a@ﬁ?{a cmﬁnmﬂ e st diferences ;. Pmcgu ixqml@
b .T‘f\\\ %\WM \QG_W\W\ Govio Lho.Hss:The. &q ble e d’ummnzé_
o m\f-’u “he. > pronsCous: horde: ttated b _Er\ﬁo,\s_év&SMd\ S
%m}\u ‘< ued e NS\?@)_}b_bO&J\\QLOQOL.R‘?RMEM*—

' e The candidate attempts to show
e_ﬂ?mil\.\\éks.agmasm_ﬁﬁtS_lA\.Zw_,Tg)h_VKe'S_P@LMM expldoon eon a juxtaposition in their argument,

\AbMer.\.ouY&_Pwdﬂ_@&?%_fcc@.on_ﬁs@_@@m‘st_sﬂ@%m - but this could be developed further
Madst: forinist_cooper o propuse. ‘oPeofoqm_mnoﬁ*ﬁvm on_bheth in order to be awarded more marks.

ok and_cops 1‘§U_VMQS_~MSDL&%@\{5_W_&&8@{LDL
ef=~fom 50 Wlen o for_vale. workxs +p endure tholr ot clony
otk 86 such... coptalisn_boneftts fin the 2 bk o oftoch hﬁ_af:

{usress.
Eoﬂtokomo\_ﬁ_dv% et ‘W\lca QCcemrrP ﬂfﬂﬂﬂmale Ls kmigl_g OPPOWNSS- counterpoint that Marxist views
Q,MXV\QA/&W_QG_{E\M}M Srueton suEtue . Ta WMMYM are outdated then states, ‘does not

\d.\ﬁ_ch\wmmw—_mm \)_@?d@\ élj_s’vz‘\\?:_bm _@0}3_0@_15@ ‘ take account of female’s working
Ol Droteckion_Act_and *thapw\‘\s ore ewg condleroble | opportunities and the variety of

family structure’. These points are
“Ree w\&_-u\ergu onthem anr ~ concested wﬁvedr‘eo(\_g"é_d\lk;&a\_

not explicitly focused on the role
\Y\%& A% regqrohg mew{}n@gbbor_av.% seajent=—fober. | of the family (more general points

of family) and are undeveloped.

It then provides some challenge

to the view that the children are
subservient to parents. However,
this is not explicitly linked to the
point made previously that children
are socialised into conformity

to authority. Therefore, the
juxtaposition is underdeveloped.
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Example Candidate Response — middle, continued Examiner comments

e vieolony 3.l chalienged n_contumpera §%§>JL&Q@
'@‘em@h_aﬂd‘j&k ?LQ?CSQ'JM\O(M ﬂpﬂﬁmem g;zz&;ﬁzggszisg \i;ould benefit
__.,Ni.:ﬁ’ag;to ocse Thelt Ydertitu o 2. N o L -
____fa‘&ﬁoa_etkroz\m _wndrecheo logm&_wo(c&\\w.\tm%\ﬁmii & o ‘:grrg.a more indepth explanation
oA | \ondjer bounded, b so mang rles.os there o

_____\barac,@&(ﬁ_o_@e@a oﬁ_o(l\mee,_o‘\m_?\cmﬁsn& _cltv © }WSQMO\_
___Tfhe buurdanies befween.doss k.o bl mrrmﬂ_o@or\o( o M 5
_C\mmmans4mPOMﬁ Fodeu=thon_the post o

—_[Tn_tondluston, M&D@ﬁlp?x \Q_.})YOUH&,L& htomm.raﬁqm(

___{mmtl S-funcigntes m.@&lém_t@@ug_,m&m%
— View gnors_DeraRons bdween Serceriiahiioli di{(‘p,ym‘t _ .
ﬂmu&g@d_*%p%_mb&_@%g& Tarc&@wmﬂo( oVer omen. | 0 The candidate repeats points
_._.E\/m_‘km@h S theor & o Ldtobdzd 3 ~ coul og . o{.as__ that have already been made.

o unluoble sturce nssesing the. wle. of family_0s | _va‘bles_ y
ok M) of 1he. elotton hotinaen ~Hmil) mm_wnm
gv\s}@m

@ . @ This response contains a

narrow range of underdeveloped
points, with some development of
relevant material and some analysis
with juxtaposition of different
arguments.

AO1: 5o0utof 7
AO2: 4 out of 7
AQO3: 6 out of 10

Total marks awarded =
15 out of 26

How the candidate could have improved their answer

* The candidate needed to provide more supporting material (AO1), whilst the ones provided needed to be
developed beyond explanation, engaging more with the point made.

*  Whilst some counterarguments were made (AO3), these were largely juxtaposition rather than explicit evaluation.
They were somewhat brief and not always clearly focused on the role of the family.
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Example Candidate Response — low

Examiner comments

Accorcling._ o Mecrite Macxist, fhe m‘/g__.@f_’__:ﬁe._géémlg_lﬁ_gz_’.

# Sopn Suppicts ho_interett of highew ruling clate ac it

beacits ghon sioce fhes fhe lower woriing elessclote in

= m;nn.‘a/&]i_‘s:ad&f; .

\them. h_maintoin_fhtir__sealth anol power in_cociety -elbere the

Hee ﬂrm%ﬁ;_ﬁ__égabw;'_j_é&_%ﬁt_ﬁz;@zggﬂﬂ_ﬂ_%;

PRV el ofoun. Fhedre  land _and_inherfance fo theiz foce

Of/: rint) ,_hence r-eg_t;p_,_u__u)hg oapdt _é_v_ggeame practicel _a_ntoce.

Monogamoud nuc/ea,c_ygaowé -//ay@}wﬂoﬁgwi_nuélgec e

A fo Fhéip  hrue %Ac».n:a;_._m;bfenetii—:jmh However b __foactt

entuces  fhe boucgeoisios dhat -ty are. —patiny ol dhei. ealth |

th g inespalty m socml closs _al i enSures the. butrgestie chid

wealth  ondk poses_,_where o) Jhe prolermcat remeics peor ancl

ponier less, Hence, fgsocity —l;&emf?___ée @At fhe Amry,,,;n;p more _Shan e

PRAE_prolefec®t p 4 cepite 11 rdu’&f(lj.

 However olue Fo_chonging ef—peticte_oncl rising.of new |

palicies, thece _might be o rie in_ conflict on- ‘sn_who e pass|

\oluin _the mherifrace. fo . for R exanple, olue fo_fhe 1969 e

Divorgy_Act

o~ inclugfrial -'?Ouvfa,. Ahie nooht  inerease o ness

foroe of fenily daee , ddm o conshtiutes! —f-aw‘g cAn wihaet thece

Amignd be a  new born g the new ,;ﬁaw.L& Gl _bhepce raver

-Dohjﬂh‘d’ beboeer e d@lo chilslrer pn  uibho  fo.  wealth _shadd be_

IDM’Mo[ Lown gy . Hence rlJ/'\ae, af corLlrit critlin __Fhe fomnilyy, —luse

Ho . Bl cetdetr :‘ﬁ-hz_dfﬁz:ce,__ét_«g‘ﬁ,l-—;— ocetr.

Anolher Adocanf ev7p/aw Lo e —ﬂzw? 37,,1,:0//; interes it -7[

Hhe_capitalat socitly . cnel (atecar of Atem. men. Afuoroling oo

arcdsley , Ls doles  obost lose_he__cuthanlog sprech , in ulbich

the Faneily provicles _confert e the alienated _worker i~ The Sy, |

fhe fot MéLM;Mﬁ;uLw_#m; _bolps fo_stablile fhe

2lult peconalitiel sf e men anel o refun lely thew fv

a The candidate makes a
relevant point with some relevant
sociological material used to
support it, e.g. Engels, bourgeoisie,
proletariat.

o Here, the point moves beyond
a simple statement, however, there
is some repetition and some lack
of focus towards the end, so it is
underdeveloped.

o This paragraph contains
irrelevant material.

° The candidate makes a
second relevant point with the
use of Zaretsky as the supporting
sociological material.
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Example Candidate Response - low, continued

‘wnﬂme_«:g_,ww;ag_eaﬁ_égﬁj_ezydﬂzuya_aﬁeﬁw/ e _fhe

Workarec Ar #w?' bave 4o keep_on uzprtcifa_@;.gf__@//&d_f/;dg_ Lobope_|
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_ 16
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& Marnist._also  conchede Heat  he 7{;:»«2 J_a___baste uni¥ ot
lﬂ“‘.’u”w]lffh\ bl tha /w/{m Fae. é@‘-/a boergenisie 7 g2 fru/ﬁ’/‘

| A MLMP/M%M%JLWWLWN@M_%%

.'5 fn

52,.;/&., feca_makel the livigesie do ot exphid the

Predefaeiod _mort o porluce ik more. /ﬂmdaafr, for Aotz benefy

7/

| Aceoreling.
7

Fo__Althusssec famfb. socredites chilolren _so 4D po.. Feu

gonéretrun of Obz_aéz_al._w.ﬂg&_m_rg_#_ea@m,&me_é}__s_auai gy fher |
'ﬁ\rvuyﬁl— Fhe fo/edf:‘f/m'i‘k/ sttt

.‘Af/_am/w helps  fu_create __pbecliend _seif of s pmokect for e |
év_urqum'e % 'eaflafl Hence 4 15 ja Tri focvic af  fhe oty

W%/M@ML%%@@M .

alats __more .

fn  Contlugom

& é_c__accamlinya oMozt tociwligict, fhe fole wf.

Fhe Sowaity is in the infecert of e fudicg C Losy—msre_Shon. She

Wﬂrlu'na eloyg o A

(A/—ﬂ_[;f_&/!."_f_..faplﬁi}«

Examiner comments

e Here, the candidate’s response
moves beyond the simple point
made, but it is not developed
enough.

e The candidate makes a third
relevant point, but it is too simplistic
and does not contain enough depth
or explanation. Further development
is required.

a The candidate makes a fourth
relevant point. While it contains
reference to some relevant
sociological material, it does not
move beyond being a statement
as it lacks explanation (and has
repetition) so is undeveloped.

0 The candidate’s response
contains a narrow range of
underdeveloped points (AO1), with
some relevant material (lacking
development) (AO2) which is
required in this type of question.
However, it has no assessment /
evaluation (AO3). There is some
irrelevance and repetition.

AO1: 5out of 8
AO2: 4 out of 8
AO3: 0 out of 10

Total mark awarded =
9 out of 26

How the candidate could have improved their answer

The most noticeable way for the candidate to improve this response is by providing an assessment / evaluation;
examining counterarguments (AO3) which is a requirement of essays on this unit.

Where the candidate provided supporting material (AO1), this needed to be developed to move beyond simple
information, engaging more with the point made. The sociological material referenced needed to be relevant and
clearly focused on the question set (AO2).

Common mistakes candidates made in this question

Providing

a one-sided argument only.

Not using relevant sociological material to support points made.
Not reflecting the question set.

Juxtaposing points to counter claims made in question rather than explicit evaluation.
Not providing a sufficient number of points or writing responses that are too short.
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